’ $ ’ : ’ e
> . icaamn : ¢ l‘ ‘
’ Bipin Nambiar Shiraz Khan Kuldeep Yadav . :
o (SBI PO 2018) (SBI Clerk 2018) (SBI PO 2018) i
s :

Rajat Saxena Anupam Tyagi
(IBPS Clerk 2018) (IBPS PO 2018)

FriENDS! ’ ,
WE USED TESTZONE
AND CRACKED BANK ExXAMS

e wienai @ foe Tkaa
“ U R AAAE ATD
e A=

IT’S YOUR TURN NOW
TAKE A FREE MOCK TEST

N | v
-'— Smartkeeda @ = %y

= The Question Bank

a ' ' -



https://testzone.smartkeeda.com/Test/Pricing

Seating Arrangement for SBI Clerk Mains, IBPS Clerk Mains, RBI
Assistant Mains, LIC AAO, SBI PO Pre, IBPS PO Pre and RRB Scale

| Pre Exams.
SA Set No 134

Directions: Study the following information carefully and answer the questions given beside.

Ten persons from A to J sit in two parallel rows such that 5 persons sit in each row. The persons in one row
face towards North and the persons in another row face towards South such that persons of row do not face
the persons of another row, although they are sitting equidistant.

Jis third to the right of G, who is on immediate left of D. A is second to the left of C, who sits opposite to D. E

sits opposite to the one who is on the immediate left of J. F sits second to the left of |, who faces North. B sits
opposite to I.

1. In which of the following pairs one person faces south while another faces north?

A.B-F B.D-F C.A-E D.G-1I\ E. All of the above

2. In which of the following pairs one person faces south while another faces north?

A.B-F B.D-F C.A-E D.G—| E. All of the above

3. What is the position of H with respect to A?

A. Both are in different rows B. Third to the left C. Second to the right
D. Third to the right E. None of these
4, Four of the following five are alike in a certain way and thus form a group. Which of

the following does not belong to the group?

A.C B.E C.B D.H E.J

5. Who sits second to the right of B?

A.C B.E C.A D.H E. None of these

Correct Answers:




Common explanation :

Reference:

Jis third to the right of G, who is on the immediate left of D.
Ais second to the left of C, who sits opposite to D.

E sits opposite to the one who is on the immediate left of J.

Inference:

Following four cases are possible as per the given hints.
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Reference:

F sits second to the left of I, who faces North.
B sits opposite to I.

Inference:

Thus Case-2, 3 and 4 fail as they do not satisfy the given hints.
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Explanations:

1. Final Arrangement:
Case-1
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Hence option C is correct.

2. B - F is the pair in which one person faces South and another faces North.

Hence option A is correct.

3. H sits third to the right of A.

Hence option D is correct.

4, Jis the odd one out as rest face South.

Hence option E is correct.

5. E sits second to the right of B.
Hence option B is correct.
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